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MATH 550  Spring, 2008 Quiz #3 Name: /7/

1. Let D be the left half of the unit disc. Rewrite [, (14 z® + y?)*/?dzdy
completely in polar coordinates. It is not necessary to do the integration.
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2. a. Compute / f f 3 . o where D is the region outslde the sphere
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7?2 +y? + 22 = 62 and inside 22 +y? + 22 =81.
dx dy dz

b. Useth It of part (a) t te the integral
se the result of part (a) to compute the integra. //f x2+y +2:)5/4

where B is the solid ba.ll of radius 9, centered at the origin. Why is it
necessary to use part (a
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